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01 AtR2tc|HI 39,305 14,110 25,195
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—2ZJ| HEgus S TAE
100,000 »221+63] 1,200
—IH BT REHADRPIHE!) EHLD
70,0002 +501+03] 3,150
Ogx=z 2,000
—QINTHMY, S7EH gtz
2,000,000& 2,000
202 04| 787 787
01 =LHO LI 787 787
Ot 2oAFA S 0]
87,4002 %9011 787
203 HE=AH] 2,700 2,400 300
03 A= PR F&IH| 2,700 2,400 300
ONctated PR
3,000,000 *90% 2,700
206 M=l 2,000 2,000
01 M= HI 2,000 2,000
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O3t FSAHS 231 S A&
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QIATHHOY H RR(EX) 3,224 3,204 20
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Al 806
- 806
201 et 3| 3,224 3,204 20
= 1,612
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01 AtR2t2|HI 3,224 3,204 20
OGEE ==0| AEAID ol 2HI(+=2
) S 3,224,000 3,224
= 1,612
Al 806
- 806
AHATHOH Ol 2tel 35,218 0 35,218
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201 fer=3| 35,218 0 35,218
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Oget=EH| 35,218
—ord2e| A HEVI2 /G2
6,380 23021« 12 17,609
SA2eX H2I |2 /A2
6,3802 23021 x 123 17,609
Mictatg 2t 178,449 252,264 AT73,815
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Al 19,525
- 161,875
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201 er23y| 21,760 21,760 0
01 AtR2t2|HI 6,560 6,560 0
Odgt==H| 800
—uetdaas 23|
1,000,000 *80% 800
O=gHl 5,760
— M2t Hla22 A Sl
8,000 x302! %30 *80% 5,760
02 S3=gHl 15,200 15,200 0
OsE2= & HA 6,600
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—THE O - BRAIAY 2K 24|
7,000,000& 7,000
LSS =S (2) 8,931 10,000 1,089
= 4,465
Al 2,233
T 2,233
201 er23 | 8,931 10,000 21,0689
- 4,465
Al 2,233
= 2,233
01 Al 2 2lH| 8,931 10,000 1,069
ORNWHUSEEER 2BHI(+88)S
8,931,000& 8,931
= 4,465
Al 2,233
- 2,233
2VHHHUSEE3EH(O1x) 5,168 5,790 NG2
= 2,584
Al 1,292
- 1,292
201 =3 5,168 5,790 AB22
= 2,584
Al 1,292
- 1,292
01 AlR2218 5,168 5,790 N62
ORVMHHSZE 2 28H|(+=8H)S
5,168,000 5,168
= 2,584
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- 1,292
Mo & =+ 100,590 97,314 3,276
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—XENEEHSI| SER=s
4,000&* 122 48
—A0IE =% SHes
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—2E]) M| - 4523
200,000 200
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OXHATHECHH] KHRHH] 4,500,000 4,500
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11 dALEEIXIZE S 450 450 0
OXNSTNSLYMHRE NE S
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14 IIEt2 8= 14,950 14,504 446
OXNG s M W2 s+
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307 212+01& 1,200 600 600
6 2= 1,200 600 600
OXNS g doi282
15,0002 802! 1,200
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&l QI XA 2t (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=2g+¢ 370
—SAds AEZA MY 370
Zz 250,000 1Al 2k 13] 250
sy 120,000 1Al 2H*13] 120
O=¢etl 8,200
—SXgE N SA0I23BS) 8,200
A4 8,000&*1102!x3& 2,640
- Ok 4,000& %110Q13 1,320
e 8,000& *1102/+3& 2,640
Hlataa 4,000 %4001 12] 1,600
Oogxz 2,900
—SANHsd 41 3 X
2,900,000& 2,900
AN EEH 19,700 12,152 7,548
= 6,388
Al 3,994
- 9,318
201 fet=3| 12,460 6,572 5,888
= 4,216
Al 2,473
- 5,771
01 AtR2t2lHI 12,460 6,572 5,888
OnlsSsl ARG Sz
683,000& 683
= 683
ORI uE A=Y 6,000,000& 6,000
= 1,800
Al 1,260
T 2,940
OBILATHE A0l =2 H|
4,710,000 4,710
= 1,413
Al 989
- 2,308
OXgeg2At s4(=Hbl)
1,067,000 1,067
= 320
Al 224
- 523
301 EetE2 N = 7,240 5,580 1,660
= 2,172
Al 1,521
- 3,547
11 #AIAMHIXIE S 6,160 4,500 1,660
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OXA0l S4(WsHl)
2,160,000& 2,160
= 648
Al 454
- 1,058
OJI=X2 s NEUSE 4,000,000& 4,000
= 1,200
Al 840
- 1,960
14 J|EI2 A3 1,080 1,080 0
oolge| el 1,080,000& 1,080
= 324
Al 227
- 529
OIYANKESA(AHI]) 9,000 0 9,000
Al 2,700
- 6,300
201 LB-2AY| 9,000 0 9,000
Al 2,700
- 6,300
01 A=R2teld| 9,000 0 9,000
Oglgus aJ|IZA =%
9,000,000& 9,000
Al 2,700
- 6,300
I0E0 oge & = 1,900 1,900 0
= 570
Al 39
- 931
201 Ler23| 1,900 1,900 0
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Al 39
- 931
01 A=R2teld| 1,900 1,900 0
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Al 39
- 931
MY 2IZH|(rAESZ ) 223,172 109,072 114,100
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01 2= 72,952 63,340 9,612
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02 JIEtME = 104,284 0 104,284
Ol oM B4 2k2 | KH(20!) 104,284
—JlEs 3,298,000& x201x 12 79,152
—JIE2g 120,000 221 % 12 2,880
— NI AHI 140,000 221 %122 3,360
—CItE &I
3,298, 0002 x84%*80%+221x13/30 2,065
— 82X 165,000 22! 123 3,960
—Heless| 50,0003 %221 x 12 1,200
—samoag
3,298, 000! +B46x5%x201 * 1224 3,325
—AZtelaRsy
11,1302 %221 10A1 2t 122 2,672
—2JddE2Es B
98,612,390 %3.545% 3,4%
—LRYEES FE=
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—1=28s RFEs
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YA B 42,336 42,132 204
201 er=23y| 27,216 24,192 3,024
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Mol ol & 3,360, 0002 *90% 3,024
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2eAE 6,720,000 *90% 6,048
202 04| 15,120 13,440 1,680
01 =LHO LI 15,120 13,440 1,680
OFAE2E =LY 15,120
— QMY MY 11,760,000 *50% 5,880
— Mol o2& 3,360, 0002 *50% 1,680
—M=t=-E 8,400,000 *50% 4,200
— Qe 6,720,000 *50% 3,360
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